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Note : Attempt all questions.
: () W FHIE 1 TS T B T 9 g §—wve (9),
WoE (F) W& GUE (F) | TS (37) ¥ Sgfasedd g, Tve
(%) ¥ 3fem dey wifer we gve (W) ¥ faa e+ gfd
Y Heiftm 99 ¥ ) 7% Wues § 5 3o § 99 vl YW W1
i armEifeq €1

Instruction : (A) Question No. 1 1s an objective type question. It has three

WF-1

parts—Part (A), Part (B) and Part (C). Part (A) has Multiple
choice type questions, Part (B) has Match the following and
Part (C) has Fill in the blanks. Each part has 5 questions.
Each question carries 1 mark,

(TUe-3) udl fawey g fafay [1x5=5]
(Part-A) Choose and write the correct option :
() Tr=fafas § @ sF- daE e fafifa & 2

(30 &M (&) arit
(%) = (%) HHH
" Out of the following which resource is man made?
(@) Air (b) Water
(c) Forest (d) House

S-3A-

P.T.O.



[2]
() FT we afa fF s ¥

(31) dERH

(%) fqum = d

(9) faum oftg #

(3) T 4K T
Central budget is passed :

(a) inParliament _

() in Assembly

\
%
(¢) in Legislative Assembly
(d) None of these
(iif) TEHI YA H AT :
[ (a7 Sw T
L (%) e
(@
(3) =9

The name of the Sansad of Russia is :

(a) Lok Sabha - -

(b) Diet
(¢) Duma

(d) Congress |

S-3A S S-3A
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(fv) e MR Faifea 4

)

(3 Fagq

(%) Freerfean ]

(7)) zoeHfiE |

(3) wad

Colonel Nasir was related to :
(a) Egypt (Misr)

(b)) Yugoslavia

(¢) Indonesia

(d) India

forereht 7 wife AR Sl €

(37) A sl 7w

() A e T2 Tl

(%) @ Ufeq &1 9

(®) A v R T wlig

Those whose purchasing power is less :
(@) do not take food

(b) do not purchase food

(¢) become malnutrition

(d) cannot purchase nutritious food

S-3A

P.T.O:
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-1 (Uus-v) 3fas gy Sifst [1x5=5]
(%) (@)

(&) Tt e - (3 A gue g

(i) Tasht A RN - (F) §9 2005

(i) T T ST - (¥) TOEf ar

(iv) THEE.IE. - () HeIgY WA |HIA

(v) 9o Hl afyer sifufam - (3) FH AR

(Part-B) Match the following : -

A) | (B)

(/) Soil pollution - {a) Minimum support price

(ii) Sales tax scam _ - (b) Year 2005

(itf) Industrialisation of Germany - (c¢) Chemical fertilizer ;

(ivy FC.L - (d) End of labour organisation

(v) Right to Information Act - (e) Stealing of tax w
-1 (@ve-W) faa wuE = qfd i [1x5=5]

(Part-C) Fill in the blanks : uy

(@) wRaH — yfit %1 forar weE 1§

InIndia _ land expansion is not possible.
(i) O TR FEA —— F WA % T A WG H A Sw R W
| (;oal 1s used as a mean 6f _ __'011 earth.
(i) Tt e I8 1 SR — ¥ AR g | Lia
The starting of colour printiing hp‘ress Wés done after . |

S-Z; A ¢ | T oca
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(iv) A firereh — ufie % weae 91

Lokmanya Tilak was the editor of ___* magazine.

) % R gHR GFYA | sraa o wivd 1 e

Due to the poisoning has been added to our food.

. (F) A FHIF 2 ¥ 6 7F fdegsed 7@ 1 whE T W/
) st ot ¥1 (SW 3 e vE-dm 30 9= ¥)

Instruction : (B) Question Nos. 2 to 6 are very short answer type questions.

Each question carries 2 marks. (Maximum word lirhit of

answer is 30 words)

wgA-2 T Q30 ¥ W € 2 [2]
What do you mean by development?

-3 O o R Fed € 2 [2]
What is called crop circle?

WOT-4 TR TR 3w Y aifueh Tera i Wit Eiet ¥ 2 2]
By which type of tax the government get more incomg?

wA-5  SurAvER F [2]
What is colonialism?

wWH-6 WA T Wiaen Saee & saRy (F @) | [1+1=2]
Write anl-producing region in India (any fwo).

- 8-3A P.T.O.
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Fdor : (W) W %% 7 § 10 7 AfreEetn v ¥ vl v W

3 3% mifes €1 (T W1 fuwan w=-dm sowm ¥)

Instruction : (C) Question Nos. 7 to 10 are very short answer type questions.
Each question carries 3 marks. (Maximum word limit of

answer is 50 words)

wM-7 WA ¥ wifa ¥ e et sreiem s Wity gen ? fafem

Why was the Disarmament Movement for Peace started in Japan? Write.

-8 Aftam @ oifge W9 w e wul @ fRaeem ® s e T

[3]

(¥ @ ? [1+1+1=3]

What was the effect of the competition between the US and the Soviet

Union on Vietnam (any three)?

-9 i amfa R TR % i e e fafen [1+1+1=3]

Write three pasitive effects of language-based state formation.

w10 vl 9 W oew! A1 B3R @ R w1 e wen T
¥? |

What are the challenges that small producers face from

globalization?

[3]

S-3A
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i Frdr : (T) T HEE 11 W 14 TF TS0 W T 1 TRE W H A
| famey 1 vl 9 W 4 3w JEfea &1 (IW F fvepan
r T=-dm 75 9= )

Instruction : (D) Question Nos. 11 to 14 are short answer type questions.
Each question has internal option. Each question carries

4 marks. (Maximum word limit of answer is 75 words)
wA-11 TgarR AR aft uger d e wn s fram ¥7 fefag
(% w0 | _ [1+1+1+1=4]

What differences do you see between nationalism and extreme

nationalism? Write (any four).
37191/ OR

firzert i et arme o wan-aen guard off ? fafae (98 = 0

! What were the similarities between the dictators Mussolini and
Hitler? Write (any four).
w-12  fraifea 99 91 § wRa wE oeditamg & i 3gE (2011) wefiia fem
T T T 1 A HY AR e g FIWE [1+1+1+1=4]
3]
sengil
13]

it T ; pitey

- (37) YRA % e § oieg o § R i w1 s afww 2
(%) e R A My R Endsdag daat?

S-3A P.T.O.
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(@) wRa # gor § odwrg J ey v 3 i & wfava g e ?
() 3 QD rer-3rem yft 1 wiava SxieTg 3 wRa § 99 € 2

The following Pie charts are showing the use land of India and of
Chhattisgarh (2011). Seeing these charts answer the following

questions :
n o, % %
% Y %
uy
Forest land .
land
Land Use : Indla Land Use : Chhattisgarh
(a) For which type of land the percentage of land is more in oo
Chhattisgarh state than India?
(b) For which type of land the percentage of land is less in
Chhattisgarh state than India? '
(¢) For which type of land the percentage of tand is double in
Chhattisgarh state than India?
(d) Which two different type of land have equal percentage in
Chhattisgarh state and India?
37er 41/ OR -
frrtiftra arfersr O 38 W fRg e € | 37 g et &t svam form Wi
o st & 2 3 1ot sE-gfeeRt | aiferst SRt W
Instr,
w.d e fivg2t =t SwEm
1 PRR S
2 |feEm —_
3 |efieR S uT-1
4 |vita = =feen —

S-3A : S-3A
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[10}]
Cait 3T/ OR

0 1 G U SR TR A s H e gt v, 9 gud SR e
¥ WIa ¥ 3 &, Q2 sqrem @ W) [5]

Facility of loan on one hand increases our income and on the other

hand we are caught in the net of loan, how? Explain with example.
T siftrare ok T stfiarE ) gor WfET (R g | [1+1+1+1+1=5]

Write the differences between rural settlement and wurban
A

settlement (any five).

37T/ OR

voOFTINE

T stfuardl @) St w1 wafaa F0 T SR fafan (9 o) |

Write the factors influencing the origin of urban settlements (any five).

T

: (W) mmf%ana‘m?ﬁéwﬁwm%lmmﬁmﬁ?
forea &1 T W W 6 3 ofEifed €1 (I Y Afyewan
- 750 T ¥)

Instruction : (F) Question Nos. 17 and 18 are long answer type questions.

Each question has internal option. Each question carries

6 marks, (Maximum word limit of answer is /50 words)

wyT-17 W%mﬁﬁﬂﬁaﬁaﬁﬁmm| [1+1+1+14+1+1=6]
Explaip_ the powers and functions ’oif Presidcnt of India.
- rUAOR
firated (YA) TN % B 7l 1 v s Ff
Write six functions of the élec;:‘ri'cﬁin éothihiésion and explain-.w
S-3A- -

S-3 A
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UeT-18 W foRA-forT Froll § wagw wfear 8§ wm 7= o ? e s
(%% 3:) | [1+1+1+1+1+1=6]

(5] Explain for what reasons voters do not participate in the voting

process (any six).

3T/ OR
125] " JrRe H W8T T 1 SfusR sl 1" We & Wee i R 9
forgadl # s =ifS
“The right to form an organization is essential in a democracy.”
* Explain the importances of organization in six points.
1+1=6]
S3A"
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Note : Attempt all questions.

fdr : () TH FUF 1 TGS TE 1 T @ gus §—ave (99),
TUg (F) T G (W) | GU8 (&) H§ sgfahedd I, G
(=) § 3faq way ey @ @vs (V) ¥ faa o =t 9
Y Geifed e ¥ 1 v @os § 5 9 § ae TS T W
i sTEifed 1

Instruction : (A) Question No. 1 is an objective type question. It has three
parts—Part (A), Part (B) and Part (C). Part (A) has Multiple
choice type questions, Part (B) has Match the following and
Part (C) has Fill in the blanks. Each part has 5 questions.
Each question carries 1 mark.

-1 (@uE-3N) 9El o e fafau [1x5=5]
(Part-A) Choose and write the correct option :
() VSITEHEE FE ?
() 9 () Y@
(§) FreTww (%) e wxd
What is Endosulfan? -
(@) Oil (b)) Drinking water -
(¢) Insecticide (d) Iron

S-3B PA.O.
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(i) St Shife T AT o

(i5d)

(37 wfem

(7) feeer

(@) wfm

(7) R et

The leader of the Russian Revolution was :
(@) Stalin

(b) Hitler

(¢) Lenin

(d) Czar Nicholas

vWaga d:

(%) AFR-TmS g
(%) e g%

(%) 7= =i feufa
(%) A ® gg
The Cold War is :

(¢) Face to face war
(6) Guerilla war

(¢) Tense situation

(d) War in the sky

S5-38B4
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(v) @ wifd ¥ FEA IURA 4

(37) SR A
(&) 9= I
() HFH H
(3) R H
Crop production of ____ grew by Green Revolution :
(@) Jwar (Sorghum)
(b) Millet
(¢) Com
(d) Wheat
(v) ifa % ferg STEier 1 HE SR €
(37 & T U
(@) frweEis
(§) T - R AR
(7) 9 ufl

The main aim of Peace Movement 1s :
(a) stop war
(b) disarmament

(¢) ban on atomic weapons

(d) All of the above

S-3B
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-1 (Wue-) 3faa vy Hifey B [1x5=35]
(F) (@)
() =R & fawey - (37) agell & IR W
(i) WFum - (%) =FEwias feq
(iii) = < s - (®) T S
(v) SlaR, foere, = - (]) @t sf SYAe T
(v) R IeH - (D) R g
(Part-B) Match the following :
(A) (B)
(f) Alternative of coal - (a) onproduction of goods
(i) PD.S. - (b) commercial groups
(7ii) New Deal Declaration - (c) atomic energy |
(v} Doctor, Teacher, Employee L (d) providing foods
(v) Excise duty - (e) by America
-1 (@ve-w) fom A ) gfd Fifs o [1x5=5]
(Part-C) Fill in the blanks : | |
(i) RAT 9 DY el worm e —— off |
The first Indian language magazine was . -
(i) T & % S R Gl —— FA S 9 eavawar gt ¥
People in rural area require caloriesof ¢nergy. daily.
| (iti) TER F AE-o7 F foaqoon ——Hgardy
Details of the government’s revenue-expenditure are inthe
S3IBA qr

Ins
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[5]
(iv) m@ﬁzﬁgﬂiﬁ—&ﬁimﬁ%a

The land left without use is called .

(v) W vEel fRe TeT Wied Wiewh A o o, fersent 5 — o

a1

The first film in India was made by Dada Saheb Phalke

whose name was .

: (|) Y FHE 2 W 6 v eI TE ¥ T T W
2 i sTfed §1 (IW F) Afteran F=-Hd 30 U= ¥)

Instruction : (B) Question Nos. 2 to 6 are very shott answer type questions.

Each question carries 2 marks. (Maximum word limit of

answer is 30 words)

gyr-2 ST I e ? | (2]
What is consumption expenditure?

qv-3 e ot g frafa o § e fafaw) [1+1=2]
Write the difference between import and export tax.

wyA-4  HE BEA % @ WM fafew [1+1=2]
Write two names of Zayad cr(;ps. |

YA-5 ARSI 3% H S HE N ?
How was the country of Nigeria born?

w-6 SwigFmARTE €2
What is meant by energy?




(6]

Frdwr (W) W7 FHE 7 10 T sfrenEety v ¥ TEE T R
3 3% ifed €1 (W F sAfirman. -y 50 Y% &)

Instruction: (C) Question Nos. 7 to 10 are very short answer type questions.
Each question carries 3 marks. (Maximum word limit of
answer is 50 words)

-7 i IR N e el @ an e o 2

What was the role of atomic weapons in Cold War?
-8 i e w1 e dfg

Give details of Niyamgiri Movement.

W™-9 amﬁaﬁ:ﬁ%aﬁaﬁﬁmgwmm%?

How has globalization affected the lives of workers?

W-10 ﬂ.wmmﬁmﬁmﬁ%mﬁml

Write reasons why Dr. Bhimrao Ambedkar resigned from the Cabinet.

Fer (R W HAF 119 14 7 wq3aa v ¥ | vod% T 3 s
faFeq &) vo% W W 4 siw swmifen ¥1 (3w ) A
YR-HT 75 g ¥)

Instruction : (D) Question Nos. 11 to 14 are short answer type questions.
| Each question has internal option. Each question carries
4 marks. (Maximum word limit of answer is 75 words)

[3]

[3]

[3]

[3]

-1 v e 33 F 31 W) FwRw fafey [1+1+1+1=4]

Write any four reasons of First World War,
e/ OR

w4t Wy % gl 2 v w5 vom v S off ? wwgmQ
When was the Treaty of Versailles took place? What were the main
terms of this treaty? Explain.

[1+3=4]

$3B
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[7]

Frerifera wie § w8 feg e € 139 g fred) o1 sva v TR
fopan w1 & 2 R SR Sae-gfien & aiforent ST o

®. H. wfea Ryt w1 s
1 |{F%R _—
2 foram _—
3 |HqfdwR _
4 |ifa Fi wfEen e

[1+1+1+1=4]

Some names are given in the table. How do they use soil? Fill in Your

answer book in table form :

Sl No. Persons Use of soil
1 Potters
2 Farmers
3. | Artisans of Sculpture
4 Womien of Village
a7/ OR

ﬁﬁiﬁﬁgﬂﬂéﬁmqﬁm%@mﬁn(mﬂ)wﬁhm
T ¥ 1 39 = w1 g R S e e ¥ IWE

(e W@ ® go H wdwe ww W few gyt w1 vheva
AEHR?

S-3B

P.T.O.



(a)ﬁmmaﬁ%[ﬁrmuﬁmmaﬁmﬁﬁﬁmﬁ

wHE?
(w)maﬁgamﬁ‘wﬂma;ﬁﬁmmaﬁmﬁqmm
T d?
(@ﬁw—ﬁﬁm—wmﬁwvﬁmﬁwgamﬁ
AR ?

The following pie charts are showing the land use of India and

Chhattisgarh (2011), Seeing these charts answer the following

questions :

Forest land

Land Use : India Land Use : Chhattisgarh

(@) For which type of land the percentage of land is more in
Chhatti.tzgarh state than India?
(6) Far which type of land the percentage of land is less in
" Chhattisgarh state than India?
| (c) PFor which type of land the percentage of land is double in
Chhattisga:rh state than India? 7
@ Which two different type of land have equal percentage in
Chhattisgarh’ state and India? -

S-3B
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ReT-13 TR ¥ it TR fere ¥ v ¥ 2 wwEe (=) | [1+1+1+1=4]

Explain how census data is useful for us (any fo‘ﬁr).

3rerar/ OR
mwﬁmm%mm%,ﬁ?W(ﬁiml

Explain how population explosion is deadly for society (any four).

yv-14 ﬁwsﬂtg@ﬁmﬁw—wmﬁeﬁ?w
(% a0 | | [1+1+1+1=4]

What were the similarities between the dictators Mussolini and

Hitler? Write (any four).

a7/ OR
mﬁaﬂiaﬁmﬁmwm?’ﬁ@m%?ﬁf@q
(®1E &0 |

What differences do you see between nationalism and extreme
nationalism? Write (any four).
et i () o S 15 T 16 A W § 1 5eE we § A

W%lmmwsmmﬁﬁﬁl(wﬁm
v~ 700 T8 ®)

Instruction : (E) Question Nos. 15 and 16 are long answer type questions.
Each question has intf:mal option. Fach question carries

5 marks. (Maximum \;vord “Iimit of answer is 100 words)

Y¥-15 mwaﬁﬁmaﬂwﬂﬂaamamﬁwﬁﬁm(aﬁéﬁa)l C [1+1+1+1+1=5]
Write the differences between rural settlement and urban

settlement (any five).

S-3B P.1.0.
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377a1/ OR

Wmﬁﬁsﬂﬁrﬁwﬁamﬁaﬁmﬁlﬁm(aﬁﬁ g |

Write the factors influencing the origin of urban settlements (any five).

HY F G T 3R TR o7 s § wEr el §, 9 gud ik %
F o § v ot E, 9 2 e 4 wuEEn [5]

Facility of loan on one hand increases our income and on the other

hand we are caught in the net of loan, how? Explain with example.
37erar/OR

T o Y Td STk W&y R faogoft fafaa) [2V4+2Y4=5]
Write a note on the ancient and modern structure of currency.
: (W) W AT 17 T 18 Feswd ¥ § | T9% WA | Tafh

forereg 2| W& W99 W 6 3 oTeifed § 1 (I 1 Afkepan
wee-d 150 = )

Instruction : (F) Question Nos. 17 and 18 are long answer type questions.

Ut-17

Each question has internal option. Each question carries

6 marks. (Maximum word limit of answer is 150 words)
T fF-fe #roll @ waem wfean § Wi =T @ ? s i
(FE ) | [1+1+1+1+14+1=6]
Explain for what reasons voters do not participate in the voting

process (any six).

37UqT/OR

“ e ® GeH TR o AfumR S § 1 €S & UEe &) fRE B:
fagaif v Hifea |

“The right to form an organization is essential in a democracy.”

Explain the importances of organization in six points.

S3B
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wyi-18  Faied (F[) o & ©: %E! & e s i [1+1+1+1+1+1=6] 1

Write six functions of the Election Commission and explain.
37aT/OR | |
5] WA % Tegafd whi Al o 4] i SHEA HIfT |

Explain the powers and functions of President of India.

2Y4=5] ‘

=6]

S-3B _ H
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Note : Attempt all questions.

Fdr : (31) 9 w1 IS v ¥ ) @ A gves e (&),
GUE (9) W@ TUE (H) | @ () # dagfawedid v, @vs
(%) # fem ey Sifey @@ @ve (@) ¥ fom Wil =1 g
W Heifid 7 ¥ | TE Tug H 5 ye ¥ q¢1 TE W W T
3 emafed &)

Instruction : (A) Question No. 1 is an objective type question. It has three
parts—Part (A), Part (B) and Part (C). Part (A) has Multiple
choice type questions, Part (B) has Match the following and
Part (C) has Fill in the blanks. Each part has 5 questions.
Each question carries 1 mark.

-1 (@Us-3) wEl fawen e fafan . [1x5=5]
(Part-A) Choose and write the correct option :

(/) T 9 TeHTy g @ R 2

(3) dR T () e Sl

(¥ gt (3) =rFem

Which of the following is not a renewable resource?
(a) Solar energy (b) Wind energy
(c) Water (d) Coal |

S-3C P.T.O.



(2]

(i) TrefafEa ¥ | S gran aieg 1 T g5 w1 § 2

(ii)

(37) smafE
() <ot
(9) &9
(¥) fa=

Out of the following which is a permanent member of Security

Council?

(@) America
() Germany
(¢) Russia

(d) Britain

®H i shifa &1 a9 o ;

(31 1905

() 1906

() 1977

(%) 1918

Year of Russian Revolution was :
(a) 1905

(b) 1906

(c) 1917

(d) 1918




[3]

(i) FE o uift fohan s ¥

)

(&) GoRH

(&) fawmawd

(%) faum oReg 4

(3) 3 A+

Central budget is passed :

(¢) inParliament

(b) in Assembly

(¢) in Legislative Assembly

(d) None of these

R I guq o E
(&7) fid son sr@eR
(F)

(@) feefim

(%) =8 ATE 3fve

The first magazine of India is :

(a) Mirat Dall Newspaper
(b) Kesari
(¢c) Digdarshika

(d Times of India

S-3C

P.T.O¢
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(TuE-u ) sfaa gy Sifew [1x5=5]

(%) (&)
() ofs dada ~ (37 fava @ 9med
(i) SRS ¥ W - (&) #eA
(i) e - (¥ wEER e
(iv) WH.O. - (D ﬁﬂﬁﬁw
(v) Tl o gefer - (7)) Wi REE IR

(Part-B) Match the following :

(A) (B)
() Land improvements - (a) World Health Organization
(i) Obtained from bauxite - (b) Marconi
(iii) Radio - (c) Fascist Party
(iv) WH.O. - (d) Aluminmum
(v) Mussolini in Italy - (e) More crop production
(@ve-u ) faa = #i gfd S [1x5=5]

(Part-C) Fill in the blanks :
() faew ganm — I fafda )
Biological resources are produced by ____.
() TSR H T F gId —— 39 F fawg a1

The Struggle for Independence of Indonesia was’ against the

country.

(i) TawmeR ¥ ‘fFew’ @A WA 9T — FLEME |

The tax imposed in cinema hall is .

83 C
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Fder

[S]

(iv) R U] — 29§ eiva &

Labour Party is related to country.

(v) WG B — BT FI HE T ¢

Chhattisgarh is known as bowi of

: () mmzﬁswaﬁwﬁﬁuwﬁlmmv
2mmﬁa%|(wﬁaﬁamm—msom%)

Instruction : (B) Question Nos. 2 to 6 are very short answer type questions.

Each question carries 2 marks. (Maximum word limit of

answer is 30 words)

el o R e A e s o € (R a2 [+1=2]

We-2
What are the symptoms of development in terms of daily wages
worker (any wo)?

w3 sRawfa el e €2 s ¥e
Whatis Green Revolution?

W9A-4 Gl O § o1 9 § 2 o o B2)
What is the government budget‘é

WA-5  3-ieHl o e Fage) : : [2}
What do you mean by E-z}uction‘? | | 7

-6 mmﬁ%ﬁﬁmﬁaﬁwwmaﬁi hH? [1+1=2]
In Indian Nationalist Movement which group of people played
1mportant role (any two)?

s3C ] PT.O



(6] |
P (W) T A% 7 ¥ 10 @ SRegeedd v ¥ W% T W
3 37 arEfea )1 (SW F v w=-d 50 = ¥)

Instruction: (C) Question Nos. 7 to 10 are very short answer type questions.
Each question carries 3 marks. (Maximum word limit of

answer is 50 words)

WeT-7 & 3UA wE @ 9w W ®ig dF of fafay) [1+1+1=3]

Write any three differences between a colonial and an independent country.

av-8 g e faer of-gew wia & SH-9H ¥ sram T (R @) 2 [1+1+1=3]

What opportunities of equality for Men and Women are given by the
Hindu Code Bill (any three)?

WYT-9  WHIY 99 | TN 96 WaEE TR & 9r | fafag (¢ d) ) [1+1+1=3]

Write about the terrible destruction done by atomic bomb (any three).

WyA-10 I F| 0 ¥ 2 g

What is Liberalization? Explain.

Fdr : (€) WA HAE 11 ¥ 14 T AT W € | WhF W | =i
foarea 31 7l W W 4 3% snafed €1 (T HY Afuwam
wg-dh 75 weg ¥) |

Instruction : (D) Question Nos. 11 to 14 are short answer type questions.
Each question has internal option. Each question carries

4 marks, (Maximuni word limit of answer is 75 words)

ww-11, Freifea aifere 3 g 1 ey o ¥ 1 39% gro et @ 3w fr waR

e e & 7 3R AR wer-gftae H e S W [1+1+1+1=4]
=) = vt =1 T
1 TR —
2 |feEm _—
3 iR e
4  |itx =t wfieen —_—

S3C



{71
Some names are given in the table. How do they use s0il? Fill in your

answer book in table form :

SI No. Persons Use of soil

;; 1 Potters

Farmers

2
3 3 Artisans of Sculpture
4

Women of Village

) areraT/ OR

ﬁqﬁ'fﬁ‘ﬂiﬁ W@W*W-W(zoﬂ)wﬁhm
| T ¥ ) T A A IR e e IR [1+1+1+1=4]

(3N Ra@ ® go A wAww ww d frw gt @ wRew
Afaw §?
(@) f59 v&R AN ft # Jhem 9RT F gEw § SR d

wHE?

(§) @ # gom § wiwr § R TR B g & wieew

T R?
(7) #-9 A em-em gft @ vfawa Sdieg 9 WRa A

T ?

S-3C P.T.O.



(8]
The following Pie charts are showing the land use of India and

Chhattisgarh (2011). Seeing these charts answer the following

questions :

Forest land

Garden land
Land Use ; India Land Use : Chhattisgarh

(@) For which type of land the percentage of land is more in
Chhattisgarh state than India?

(b) For whlch type of land the percentage of land is less in

arh state than India? - s .

type of land the percentage of land is double in

Chstgisgarh state than India?

(d) WhICh two different type of land have equal peréentage in
Chhattiegarh state and India?

uF-12 feem ok qEfert aeee § ww-sm woed o fafao
(E[-ﬁ{ ') | _ [l+l+1+1=4]
What were the sumlarltles between the dlctators Mussolml and
Hltler‘? Write (any four).
37171/ OR

ugarzsi\waﬁrmr&ﬁarqaﬁwwﬁam%’hm
(F1E =10 |

What differences do you see between nationalism and extreme

nationalism? Write (any four).

S3C

Ii



[91]
v fova 93 & forgl = oo fafau [1+1+1+1=4]

Write any four reasons of First World War.
¥q/OR

Futa bt W el g8 2 39 O #1 ww wd FE-wE @ ol 2 Ty [143=4)
When was the Treaty of Versailles took place? What were the main

terms of this treaty? Explain.

ST & Sihg TR A 9 IwEnh € 2 aeeme (1 w0 1 [1+1+1+1=4]

Explain how census data is useful for us (any four).

qr/OR
SEE faene e & fou as ?, 59 ? gusEe (3 90 |

Explain how population explosion is deadly for society (any four).

forea & | O® WO W 5 3 areifed €1 (W Y Afuwan
y=-dM 100 v ¥)

Instruction : (E) Question Nos. 15 and 16 are long answer type questions.

; uy-13
f uyT-14
-
|
Fder
=4]

UF1-15

Each question has internal option. Each question carries

5 marks. (Maximum word limit of answer is /00 words)

|
. (3) Y FHHIE 15 TE 16 THITNT WA §F | 7@F w91 § oafF
1
|
i
i
|

T hT e O A T e wer § g O €, o gwd o el
F ot & A R, HY 2 ST | wueRu) [5]

Facility of loan on one hand increases our income and on the other

hand we are caught in the net of loan, how? Explain with example.
a1/ OR

T3 % UIHA e iy we g feupof fafam ) [2Y4+2V4=5]

Write a note on the ancient and modern structure of currency. |

‘ |

P.T.O:



| [10]
UgA-16 wﬁa'aﬁa@ﬂmﬁiaﬁwﬁama@mhﬁﬂ
(7 qfen) | _ [1+1+1+1+1=5]

Write the factors influencing the origin of urban settlements

(any five).
37T/ OR

reivor ST SR AT STfeEr e S (FE ) |

Write the differences between rural settlement and urban

settlement (any five).

Fdor :(tﬁ)wquﬁwaﬁsﬁﬂﬂw%nmwﬁmﬁm
ﬁm%imwmemm%umﬁﬁm

sz 150 I ®)

Instruction : (F) Question Nos. 17 and 18 are long answer type questions.
Each question has internal option. Each question carries

6 marks. (Maximum word limit of answer is 150 words)
qvg_17 e (SR S % 5 FE H el e Fifs@l  [1+1+1+1+1+1=6]
Write six functions of the Election Commission and explain.
HIFT/OR

mﬁmﬁmaﬂﬁwml

Explain the powers and functions of President of India.

§-3C



[11] o
uy-18 R T EST S 1 AIRRR S € 1 OTeA % Aed w Rl 5
+1=5] fargell @ wre [1+1+1+1+1+1=6]

“The right to form an organization is essential in a democracy.”

Explain the importances of organization in six points.
Hegqr/ OR ;

e fRa-fF wRel ¥ TaeE iE § i i W ? T S
(FE 37) |

Explain for what reasons voters do not participate in the voting

process (any six).

..........
-
-

1=6]
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